[image: image1.jpg]s
o\
N
O\ v
NN

R

Quetion Paper Code : P 1183
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10.

Answer ALL questions.

PART A — (10 x 2 = 20 marks)

Compare the working behaviour of Transparent router over Conventional

router.
When is gratuitous ARP called? List down its features.
What are the conditions in which the silly window syndrome can occur?

If the receiver buffer size is 1,28,000, what is the expected value of the 16-bit
window size field in the TCP header, in the hosts that support window scale
option?

Write a routine to convert an IP packet header from host to network byte
order.

What are the advantages of resetting the time-to live for a datagram whenever
a fragment arrives, as opposed to settmg the timer once when the first
fragment arrives?

List out the contents of TCB.
What is the need of Timed delay after closing a TCP connection?

List down the possible ways by which TCP adaptive retransmission can be
tuned.

What happens if a sender sets the push sequence and then sends enough
additional segments to always keep the receive buffer nonempty?
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PART B — (5 x 16 = 80 marks)

Explain about Proxy ARP technique in network with advantages
and disadvantages. (8)

With multiple RARP servers on a network, how can they prevent
their responses from colliding with each on the network? 4)

What are the advantages and disadvantages of ICMP timestamp
requests and reply messages? 4)

Or

Why does an ICMP error message contain the IP header as well as
the first eight bytes of the IP datagram that caused the ICMP
error? 4)

Try to reach a server on a nonexistent host on your local network as
well as with a nonexistent host on a remote network. In which case
do you receive an error message? Why? (€))

Should a router give ICMP messages priority over normal traffic?
Why or why not? (€Y

Explain the datagram reassembling process with necessary data

structures. (16)
Or

(i Write notes on address types and features of IPV6. (8)
(i) Write a routine that sets the subnet mask for an interface by
deleting the existing routes for the old network address. (8)
()  Write down the routines for handling an IP datagram coming in
~ from the network. 8
(i) By considering the timing between the IP process and a device
driver that deposits a datagram and sends IP a message, show that
the above routine will make one last iteration through all interfaces
even though there is no datagrams waiting to be processed. ®

Or |
(i) Suppose a gateway generates an ICMP redirect message for a
destination that it knows has a subnet address. Should it specify
the redirect as a host redirect or as a network redirect. Explain. (8)
(i) ~ Write a procedure to handle an incoming ICMP redirect message.(8)
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